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I . 6 0l JOI6)

(5) WAyl Aigidele! 3T TRl ERoaTd AR G, 38 I AGHed™ o TE I 0 fo
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(6) I JIATHTS! ThTUET Afereh adestd Aigiaetct! I, TSRS HEA Aigiaetell Icak TTel ERUATd IV
TErd.

(7) e Aiefaeiell ST gRRT seedl JU ATE.

(8) AT I AiGferamT ekt hreeat Toham e T Sfetiame st shimar. Ufer Aigideielt Seal
TTEl ERUATd JUTR AT,

(9) IYUIhd Jcdeh UHTER WTeAl  AGeTAT THTE e hH HUITETS] Hishad! AT TR, d9< hed
Eich

(10) wdierg Faifed Je THeA TEIEa Yo 3l JreTall I T8 Jeia S diedl. et de feah
TfEeTE Seledn SRS IrgT SR .

(11) T@TE YT I /e IMeEBeATH ATeTed Tdereh fohdl Wil ShgadTeish AT<Aehe fI=mun w& .

(12) STt 2t /=[eh / snararaTede fag wmes- foha urerehi=t mefreronfersmtt fehar freronfersprdt aieamre
G T | Teadl Held MeswA AN Hed AT Tgdi-e ged.

(13) F& /o /neTemerad Faed TAeTsd UgdiH drafavam= gea aien aiuc=a Hehdeedat 3Taid
(qTeqEtt) Searget Tfdgy seamdTgd 10 (<81) feawm=ia Teia.

(14) HgoR fehal 37 HROMHS TeH Fohial ITEAN EBeAH a5 A=l AMIREHER Im ot
HIIATE! hefl e,

(15) ¥es WTEAWTHIST TS WIS Jeaient feeiel! 31, Heb HieamTdial |iqre Jedaed sUsh Y94 9grad.
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SECTION - I

ENGLISH

Instructions for Q.01 to Q.03

01.

02.

03.

04.

Read the passage carefully and answer the following questions.

Mani is my favourite cat. Every morning mother gives her some milk.
Sometimes she catches a mouse near the garbage pit. She likes climbing

trees and watching the birds.

What does Mani catch?
(1) A pit
(3) Milk

Find the odd term.
(A) Morning

(1) ‘B’ correct
(3) ‘A’ correct

(B) Climbing

Find the rhyming word for ‘Free’.
(1) She
(3) Like

(2) A mouse
(4) A bird

(C) Watching
(2) ‘C’ correct
4) ‘A, ‘B’, ‘C’ correct

(2) Give
(4) Tree

Fill in the blank with the correct alternative.

Malhar caught a big golden fish
(1) in

(3) over

his net.
(2) on
(4) upon

SPACE FOR ROUGH WORK
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05. Choose the correct comparison for as timid as
(1) rabbit (2) elephant
(3) deer (4) wvulture

06. Look at the picture and select the correct conversation from the given options.

(1) A : Excuse me, uncle. Is this yours?
: Oh, yes!

(2) : Thank you so much for this gift.
: You are welcome.

: What’s the time?

. It’s two O’clock.

: Can you please help me.

3)

4

W > T > >

: Sure.

07. Ladder : |:A|:A_A|_|_A_A—_| : : English : ?
o L= o
3) 4

L]

1L

08. Find the smaller hidden word which indicates ‘Head of the unit’ from the

word - Handkerchief.
(1) Chick (2) Chief
(3) Hand (4) And

SPACE FOR ROUGH WORK
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09. Complete the word register.

Violin, Tabla, , .
(1) Erraser, Sponge (2) Scene, Museum
(3) Tambourine, Cymbals (4) Mixer, Sieve

10.  Identify the game and select the correct option.

(1) Hop-scotch
(2) Hide and seek
o (3) Marbles

~ . (4 Skipping-rope

11.  Choose the correctly spelt word.
(1) Compitition
(2) Competition
(3) Compitision
(4) Competision

12.  Identify the underlined punctuation mark in the given sentence.
Ah! At last I will have some rice.
(1) Apostrophe
(2) Comma
(3) Question mark

(4) Exclamation mark

SPACE FOR ROUGH WORK
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13.  Select the proper option to complete the motto.

is wealth.
(1) Money
(2) Health
(3) Currency
(4) Growth

14.  Fill in the blank with correct option.

This advertisement gives offer for festival.
Eid
Pune
Diwali
Christmas
15.  Select the correct alternative.
work quickly.
(1) Lets’ (2) let’s
(3) Let’s (4) ‘Lets
16. Find the odd man out.
(1) Shiny star (2) Tall tree
(3) Clever house (4) Old man

17.  Which of the following is a request? Choose the correct option.
(1) May I come in? (2) 1 don’t know.
(3) What are you doing? (4) Please wait for me.

SPACE FOR ROUGH WORK
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18. Look at the chart and find the correct option.
Hand
I I | I |
Palm Elbow Fingers ?
(1) Beak (2) Tusk
(3) Stomach (4) Wrist
19.  Select the correct option.
February is the month of the year.
(1) second 2) 2
3) I (4) two
20. This clock shows the time
(1) quarter to four
(2) quarter past four
(3) quarter to three
(4) quarter past three
21.  What will you write in the following timeline?
Present Past Future
\’ \ \’
Find ? Will find
(1) Will find (2) Found
(3) Finds (4) Was finding
SPACE FOR ROUGH WORK
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22. At the time of examination, what will you say to your friend? Choose the

proper greeting.
(1) All the best.
(3) All is set.

23.  Select the correct option.
Sunday comes after
(1) Monday
(3) Saturday

(2) All in one.
(4) All sit down.

(2) Thursday
(4) Tuesday

24.  Choose the correct alternative for the given sentence.

gaurav was the captain of ‘a’ division’s team.

(1) Capital ‘G’ for gaurav

(2) Capital ‘A’ for ‘a’ division

(3) Capital ‘C’ for captain

(4) Capital ‘G’ for gaurav and capital ‘A’ for ‘a’ division.

25.  Count the number of question marks in the following conversation.

A : Hello, Ira speaking. Will you come to play with me?
B : Which game?

A : Off course! Basketball.

B : When?

A At 5 pm.

(1) ) 4

3) 0 4 3

SPACE FOR ROUGH WORK

0102-Marathi Set-A

7 of 32 P.T.O.



ABCDE|FGHTIJ|KLMNO|PQRS ST|UVWXY

26.

27.

28.

SECTION - II

INTELLIGENCE TEST

How many two letter words are more or less than the four letter words in the
given sentence?

“Raju helped Ram while he was climbing Shivneri Fort.”

(1) More by 1 (2) Less by 1 (3) More by 2 (4) Less by 2

In the given alphabet series which letters have occured same number of times?
KPGGPKGHTPDKGPTDP
() PG 2) KT 3 TD (4 DP

In the given number series how many times does ‘3’ occur before ‘5’ but ‘4’
does not occur after ‘5°?

(835245353465435356435354357)

(1) 7 times (2) 8 times (3) 6 times (4) 9 times

Q.29 to Q.33 Direction:

29.

30.

Select the odd term

(1) to see - to look (2) dirty - dusty
(3) hand - fore arm (4) poor - weak
A C A B
Q P R Q Q P P R
C B B A B C A C
R P R Q
(D ) 3) 4

SPACE FOR ROUGH WORK
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ABCDE|F GHTIJ| KLMNO|PQRS ST UVWXY
fawm - 11
gigaw =it
26. ‘REAQ TE Feddl Uehcied TSE THA SER feer.

I JEd GIR A weeem dF HAGH vee foRdH A TR hHl IR Y
(1) 1 9 S (2) 1 3 (3) 2 9 R4 (4) 2 9 wHH

27. @S U T T 9 E@INYII3ITEITYIYITST
AT FEAT BRI FER THE deol ATl TR ?
1 77 @ @ 2 3) T3 @) T

28. Gild T@Mifctehd S et 37 ome, WA ST Fa 47 AR, o™ Rl dea
EISEIC RN
(835245353465435356435354357)
(1) 7 d& 2) 8 d=& (3) 6 d=& 4) 9 d=&

T . 29 d 33 Widt ¥ -
T 7 SHUIR UE SNBREd A=Al W hHTR ages Ul

29. (1) & - TH 2) @ - 9w
(3) &A@ - I 4) e - f@
30. A C A B
Q P R Q Q P P R
C B B A B A C
R P R Q
(D @) (3) 4)
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L) O o T

(1) (2) (3) 4)
32. (1) 4 2) 17 (3) 7 @) 12
33 (1) 111 (2) 482 (3) 231 4) 362

Q.34 and Q.35 Direction:

Consider the pattern in the given number series and select the correct option
to replace the question mark.

34. 53, 61, 68, 82, 2, 103
(1) 92 2) 91 (3) 89 4) 95

35. 2,4,7,12, 19, 30, ?, 60
(1) 47 (2) 43 3) 49 4) 45

36. In the given series of symbols select the correct group from the options to
replace the question mark.

<+ X -+ X < X <+, <+ x ?

b

(I) <x+ - 2) x - <+ (3) <+ x — 4) >+ x —

37. Select the correct figure from the options to replace the question mark.

Question Figures
. + A
+ A ® ‘?

° + [
+ A .

Answer Figures

(D 2 3) 4

SPACE FOR ROUGH WORK
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O D o
(1) (2) 3) 4)

32. (1) 4 2) 17 3) 7 “4) 12

33. (1) 111 (2) 482 (3) 231 4) 362

T 6. 34 o 35 Wit guAl -

34.

35S.

36.

37.

IR E I I e ) B i o o o M s M S e Bt o) SR L B L S e

¢ o
QA (sl

53, 61, 68, 82, 7, 103

1 92 2) 91 3) 89 @) 95
2, 4, 7, 12, 19, 30, ?, 60
(1) 47 (2) 43 (3) 49 (4) 45
grefla fargren wifoehd Tefa-grean SFft A e w9 fae.
<+ x -, + x - <, x - <+ , - <+ x , 7
(1) < x + - (2) x - < + (3) < 4+ x - (4) >+ x -
Tefargr=a AT SEM AUR IRl ShIvid] ?
TgATRAL
. + A
. + °
+ A °
Il ATHAT
A + A A
x 4
(1 (2) 3) 4)

HeedT HIHTHTS! Word
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38.  Select the wrong term in the given number series.

l 3 S5 7 9 11
326 11 > 17 > 27 > 38
2 @ i 3 i @ 55

39. In the adjacent figure how many triangles are there?

(1) 8
2) 10
3) 11
4 5

40. In the following question various faces of a cube are shown. Study them and

find the number which is on the face opposite to 5.

4 2 1 6

(1 2 2) 6 3) 1 “4) 4
41. If Horse is called Camel, Camel is called as Zebra, Zebra is called as Donkey,
then which animal is called as ‘Ship of Desert’.

(1) Horse (2) Camel (3) Donkey (4) Zebra

42.  Ajay is taller than Ramesh but shorter than Sadu. Sameedha is taller than Ajay
but not as tall as Sadu. Who is the tallest?

(1) Sadu (2) Sameedha (3) Ajay (4) Ramesh

SPACE FOR ROUGH WORK
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ABCDE|FGHTIJ|KLMNO|PQRI ST|UVWXY
38. WIeiial GEAMIClehdld gehldl 9 T3l
13 5 7 9 1
376 11 17 27 38
3 11 9
) 2 2) — 3) L 4 =
()6 ()38 ()17 ()27

39.

40.

41.

42.

digaea ehdrd  Brepvm=h e fhdt omR?

(1) 8
(2) 10
(3) 11
4) 5

Geld T ThE T g dianesl feud et foudia ® grafael ofmR.
A AR g wEd ST 7 3T IEoiedl Y=l fawgd JSaleX Shividl
I IEA d RN Eer

4 2 1 6

1 3 3 3
2 6 2 5

(1 2
HISTAT 3¢ T8edd, 32Tl IS T8ddd, JeATell Ted Feedd; i dlaeidied Siamsl

hIUTTAT FgUTTd ¢

(1) =et

2) 6 G) 1 4) 4

2) (4) e

(3) Tea

T TIULT 39 I WU N IR, WHET FTAUST I I TG TEa!
3T AR W EE@ I HO?
(1) &g (2) @i

(3) (4) W

HeedT HIHTHTS! Word

0102-Marathi Set-A

13 of 32 P.T.O.

.....
. o
.....
.....
.....
.....



ABCDE|FGHTIJ|KLMNO|PQRS ST|UVWXY

43.

44,

Five years ago John and Ahmed’s age was % and % times respectively of

Sharad’s age at that time. If John’s age was 8 yrs at that time then what is
the addition of ages of all three, two years later?

(1) 38 yrs (2) 53 yrs 3) 59 yrs (4) 40 yrs

There are two married sons and three grand children in Radha’s family. Find

minimum number of members in Radha’s family.

(1) 12 2) 11 (3) 10 4) 9

Q.45 to Q.49 Direction:

45.

46.

In the given questions first term has a specific relation with the second term.
The same relation exists between third and fourth term. Identify the relation

and select the correct option to replace the question mark.
Maharashtra : Governor : : India : ?
(1) Prime Minister (2) President

(3) Chief Minister (4) Vice-President

Mo

R Xy dls2

q ~ < b
b VAR VAR d
(1) (2) (3) 4)

SPACE FOR ROUGH WORK
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43.

44,

S STl 3EWed U™ auigdie 99 YEEAl Eeedl  adTedl  ST{%HH

1 1 N <~ - . .
gazwwdquﬂlqwﬂwsaﬁwwﬁmzw

T o0 fohdt 9v S8 ?
(1) 38 a9 (2) 53 9§ (3) 59 au (4) 40 =

. qYTeRRel UG aF foeTfed el oMfUl dF ATdae Ted, WX A=Al EXIA
wHId St fordt TOE TEdIA ?

(1) 12 2) 11 (3) 10 @) 9

T9T . 45 9 49 W& gEAT -

45.

46.

el Ted Ufgedl 9 gE=AT UG SEl WeY 3lE; 36l q|re dey faw=n
9 AT Yeld IR, dl HaY MYT o YHrG-ar=dl SN A= Icdl=al 9did

ST aes  TTdl.

RS : IO @ R ;7
(1) wavem (2) Tt
(3) gemAt (4) IHSITA

Mo
R
d

> Xl dl?

b e > d

(1 2 3) (4)

HeedT HIHTHTS! Word
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AP
D @

V

=S}

(1) (2) 3) (4)
48. 13 :169 :: 15 :7?
(A) 225 (B) 175 (C) 195
(1) Only ‘A’ is correct (2) Only ‘C’ is correct
(3) ‘A’ and ‘B’ both are correct (4) ‘A’ and ‘C’ both are correct
49. 27 :14 :: 18 :7?
(1) 13 2) 12 3) 15 4 17

50. In the adjoining figure, if one walks from ‘House’ (A) to ‘School’ (B) in the
direction of the arrows, how many times has he to turn to his left?

B School
A
House %
(1) 6 times (2) 5 times (3) 11 times (4) 7 times

SPACE FOR ROUGH WORK
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ABCDE|FGHTIJ|KLMNO|PQRS ST|UVWXY

@:@::@: ?
7 &) @ @

(1) (2) (3) (4)
48. 13 : 169 :: 15 : ?
(A) 225 (B) 175 (C) 195
(1) ®aa ‘A’ s (2) ®Fd C aUH
(3) ‘A’ smfr ‘B’ s 4) ‘A’ s ‘C R
49, 27 : 14 :: 18 : 7
(1) 13 2) 12 (3) 15 4) 17

50. Hiededl hdld B (A) 9 Wl (B) W gr@fden g, W uEA Med
qeeudd fhdidast sefiee dee dne ?

B (=)
A ]
()
(1) 6 3d&B1 (2) 5 dat (3) 11 de& 4) 7 @&

HeedT HIHTHTS! Word
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51.  Rahul says, “There are 6 boys standing in front of me in a row and Amit is

at the third position behind me.” Amit says, “l am standing next to the boy
who 1is exactly at the middle place in the row.” How many boys are standing

in the row?

(1) 18 2) 19 (3) 21 4) 23

52. In a certain year if Independence day occurs on Tuesday then in the same

year which day would be the last day of the year?

(1) Sunday (2) Monday (3) Tuesday (4) Wednesday

53. The adjacent figure shows the number of players playing different games.

Observe the figure and find how many players play at least two games?

«—— Kabaddi

(1) 34

2) 39 Cricket —

(3) 21

4) 47 Hockey ——

54.  Select the correct option to describe the given venn diagram.

(1) Male, Female, Doctors
(2) Numbers, Even numbers, Odd numbers
(3) Trees, Mango, Jackfruit
(4) Country, State, District

SPACE FOR ROUGH WORK
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51.

52.

53.

54.

TgA TU@l, U WA AWEAge 6 o 3 om weAmar fouenm wermmeR
amfla 3w omg.) W omfld wuml, ‘W YN garew Jé od 3WT IR,
W @ T fohedt gor oTEdia ?

(1) 18 2) 19 (3) 21 4) 23

Th! I WEaAfed AGail Tl IHA™E oI I8 Q=T Ir v 378 ?
(1) Teem (2) HHER (3) WiTeaR (4) FUaIR

qiaa<al AThdd CWBlgdl G961 qr@ad] 8. Iaed - fhH F T Wau=

ToTge! H& fohdl 3R ?

‘ — wuggt (D34

[98)

fshohe — (2) 39
(3) 21
e 14 4) 47

Qe oF TRl 3T U HUOMN GITE IO ?

(1) g&v, femn, s
(2) T, wmae, fovmae
(3) &, N, HUH

4 @, Tsa, e

HeedT HIHTHTS! Word
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55. In the given square pattern, select the correct option to replace the question

mark.
1167 |17 (1 73
41 | ? | 47 (2) 6l
23 3.1 5 (3) 59
4 53

Q.56 to Q.60 Direction :

A set of terms is given at the beginning of the question. These terms have
some common characteristic. Find out the term from the alternatives that matches
the given set of terms.

56. Step mother, Snow white, Spring time, ?
(1) Distrust (2) Foot print
(3) Black white (4) Day night

57. Hard, Challenging, Testing, ?
(1) Easy (2) Joyful
(3) Effortless (4) Difficult

58. 25, 123, 62, 6, ?
(1) 341 2) 216
3) 511 4) 218

59. 297, 135, 501, 189, ?
(1) 503 (2) 355
(3) 243 4) 781

SPACE FOR ROUGH WORK
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5S.

WA S JHf-g=al I hiod] 9@ I ?

1116717 El) 73
2) 61

o
41| 2 |47 &) 39
23 | 31 5 4) 53

T . 56 o 60 WA gIAT -

TR GEATdie hrel ue fooiell R, ol Ul gEH SfSeER T T

TR gl I MRIG GHOR Ug fooedn watEiq e

56. IAVTS, oM, IdiErel, ?
(1) A (2) AR
(3) MHIRN (4) S-q
57. w3, g, 9, 7
(1) =g 2) g
(3) "W 4 fq
58. 25, 123, 62, 6, 7
(1) 341 (2) 216
(3) 511 4) 218
59. 297, 135, 501, 189, ?
(1) 503 (2) 355
(3) 243 4) 781
Tl HTHTHTS! Wekd
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60. Question Figures

(YN T/\

Answer Figures

(1) (2) (3) 4)

Q.61 and Q.62 Direction:

Select the mirror image of the given question figure from the options.

61. Question Figure Answer Figures

752 Ce7 | [\ | | SeY | | SGY

(1) (2) ) (4)

SPACE FOR ROUGH WORK
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60.  IYTHAL

T . 61 & 62 WIS FIAT -

Grea SeAThd SRR Sfo e i 9 vkl e emharmym fafvem

T I TR dS TEI.

61. STl

752

IR HATHAT

Y4

ARd

NGA

INAY

(D (2) 3) 4)
eIl HTATHATST Wekd
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62.  Question Figure Answer Figures
(1) ) 3) 4

Q.63 and Q.64 Direction:

Select the water image of the given question figure from the options.

63. Question Figure Answer Figures
(1) 2) 3) 4
64. Question Figure Answer Figures

MNZ NN WNNY| ZUM| |SUM

(1) (2) (3) 4)

SPACE FOR ROUGH WORK
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62. ST I TR
(D (2) 3) 4)

U9 . 63 T 64 WSt IAT -

Qe TeThdTe qATdie idfes e fid 7 vl 3cr sthamyd Ffeaa

FT 9 AR dges TEl.

63. oA Jeal AR

(D ) 3)

64.  TEATHAL Ieal ATl

(4)

MNZ| |ANX] ANX| ZUM

N\ MM

(D (2) (3) 4)
eIl HTATHATST Wekd
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65. Identify the pattern and select the correct option to replace the question mark.

(1) 25 2) 6 3) 7 4 17

Q.66 and Q.67 Direction :

Word BUT TAP BAT
Code A @ OV A | A =X @

In a certain code language, symbols are used for different letters. The sequence
of the letters and of the symbols may not necessarily be the same. Observe

the code in the above frame and answer the questions.

66.  Which symbol is represented by ‘U’?
(1) A 2 @
3) O 4

67. How is ‘TOP’ written in the given code language?
(1 revVv 2 VeLll
B3) AV 4 ATV

SPACE FOR ROUGH WORK
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F G H I

K LMNO

PQRST

UV WXY

65. WA IgBMhdid FA-r=AT JF RO ST AsA o TR Hived .

S

.....
. o
.....
.....
.....
.....

(1) 25 2) 6 (3) 7 4 17

T3 k. 66 T 67 WA AT -

g
Hiehideh &Y

BUT TAP BAT

A @ [ V A X A @

g arofidia wegdia s1er onfor famg aien A WR@N WA W@ AE, R
A U U . 66 d 67 < Ic gAEQd e

66. ‘U I @St hivd fug AsA?
(1) A 2 ©

3) o 4)

67. IUA Hiehides WA TOP & Iec HEl foga?
(1) A®V 2 Vel

(3) LAV 4 ATV

HeedT HIHTHTS! Word
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Q.68 and Q.69 Direction:

68.

69.

70.

71.

Select the identical figure to the question figure from the options.

Question Figure Answer Figures

CHRGENGENEDNIGED

(1 ) 3) 4)

Question Figure Answer Figures

(M ) 3) 4

In a certain code language. If CAT = WYE, MEN = MUL and DOG = VKS
then how will you write the word which is opposite gender of ‘OX’?

(1) KB 2) WOC (3) WKC (4) RBK

( ABCDE FGHIJ KLMNO PQRST UVWXY )

In the given alphabet series which letter is at the sixth position on the right
hand of the letter which is at fourth place to the left of the letter which is
nineth from the right hand side of the series?

() R 2) S 3 G GO

SPACE FOR ROUGH WORK
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T . 68 T 69 W& HIAT -

68.

69.

70.

71.

Giefldl eATehd el ddlad JesuIdl 3Tehel WA 3cck  SAhcamed  fae.

st T
(D @D D GED D
s T

578 ANV 2
BOEDE

Thl Hehideh WNd CAT = WYE, MEN = MUL 37T DOG = VKS 3™
fafgaa, ® @@= ama ‘oxX’ = fowgaferft weg e forger ?

(1) KB (2) WOC (3) WKC (4) RBK

(ABCDE FGHIJ KLMNO PQRST UVWXY)

T HEATAA ITAThgd AT HAG=AT SellehSial =T & ISl
TE e I ?

() R 2) S 3 G 4 T

HeedT HIHTHTS! Word
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72.

73.

74.

75.

Letters C M D K L \%Y N R P
Numbers 7 8 5 4 2 9 6 0 3

Observe the given table and solve.
D+W=P-N+1L)=2?
I R 2) P 3) L (4 N

Purva is facing the south-east direction and she turns to her left two times at
right angle and does Shirshasan. (up side down, with head down and legs up)
which direction is pointed by her right hand?

(1) South-west (2) North-east (3) South-east (4) North-west

You see an injured sparrow on your way to school. What will be your
immediate action?

(1) T will loudly call my friends.
(2) T will neglect the baby sparrow.
(3) I will inform the Head-master of my school about the incident.

(4) T will serve water from my water bottle and shift the sparrow to a safe
place.

Whose action from the following is the most correct action?

(1) Raju collected all the garbage from the varanda and burnt it.
(2) Sameer threw the wet garbage in the dustbin.

(3) Sameedha collected all the garbage from her house in a bag.

(4) Suresh converted wet garbage into manure.

SPACE FOR ROUGH WORK
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72.

73.

74.

75S.

AR C M D K L W N R P

3T 7 8 5 4 2 9 6 0 3

Tiie grofe e we -
D+W=P— (N+L)=f&d?

() R 2) P 3) L 4 N

T fRE dig #ed i oEciell YAt §F d1 Sldihe  ShIehMIA  desel
afor foq sfivies al; @ fo=m SSem B wiven fovm e

(1) ke (2) | (3) AT (4) d=EH

= Wedd AT TR fomfie fiq) dewed stHed fomdr Rl w@id
HT HAA ?

(1) IRSRINET w4 AT e,

(2) TS goiE A,

(3) I TS YEAEAIhI=A] HMETER  HTeH.

(4) A= deeidid 9o U g giead Sei ded.

GIedehl IO el Falfash A 3 ?

(1) TS ST e Tehd HEA STl

(2) THA 3Tl HoU HAUHed  Tehal.

(3) wAMYN =T e THM S AT hall.
(4) GEH A FIAURT @d TIR ohal.

HeedT HIHTHTS! Word
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